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int a0, al, a2, a3, a4, ab, a6, a7, a8, a9;
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int a[10];
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#include <stdio.h>

int main(void)

{
int i;
int a[10] = {56, 67, 99, 87, 63, 89, 90, 49, 77, 64};

printf "#IHHME S N-EEFIDIEKLLTDREY TI¥);
for (i=0; i<10; i++)
{

}

return 0;

printf ("%2dZ&E B8 %d¥n”, i+1, alil);

int a[] = {56, 67, 99, 87, 63, 89, 90, 49, 77, 64}. // Ih+%0K
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#include <stdio. h>
#tdefine NINZU 10

int main(void)

{
int i;
int a[NINZU];

for (i=0; i<KNINZU; i++)

{
printf"lEFXAADLTLFZELNT);
scanf ("%d”, &alil);

}

printf "ANSNI-{EITLLTDEY TT¥n");
for (i=0; i<KNINZU; i++)
{

J

return 0;

printf ("%d&EB :%d¥n”, i+1, alil);




